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QUESTION 1

Of the four types of SONET transmission equipment, what performs the 3R (Refresh/ Re-amplify, Reshape, Retime)
function? 

A. Path Terminating Equipment 

B. SONET Terminating Equipment 

C. Regenerator 

D. Add/Drop Multiplexer 

E. Digital Cross-Connect System 

F. Line Multiplexing Equipment 

G. Post/PreAmplifier 

Correct Answer: C 

 

QUESTION 2

Which statements are true regarding port channeling? 

A. A loss of one port in the channel will not cause FSPF (Fabric Shortest Path First) protocol to re- converge, therefore
no fabric disruption will occur. 

B. Port Channeling has no master port and does not fail the whole channel on a loss of one port in the channel. 

C. a master port is defined to allow that port to determine which path a frame should take through the channel. 

D. Cisco\\'s port channel feature allows only 4 ports to be aggregated per line card. 

Correct Answer: AB 

 

QUESTION 3

Click the Exhibit button to view the topology. 
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Host 1 and Host 2 are on Ethernet LANs in different buildings. A serial line is installed between two Cisco routers using
Cisco HDLC serial line encapsulation. Routers A and B are configured to route IP traffic. Host 1 sends a packet to Host
2. A line hit on the serial line causes an error in the packet. When this is detected, the retransmission is sent by: 

A. Host 1 

B. Host2 

C. Router A 

D. RouterB 

E. Protocol analyzer 

Correct Answer: A 

 

QUESTION 4

In Frame Relay, the BECN bit is set by: 

A. The Frame Relay network, to inform the DTE receiving the frame that congestion was experienced in the path from
source to destination 

B. The Frame Relay network, in frames traveling in the opposite direction from those frames that encountered
congestion 

C. The receiving DTE, to inform the Frame Relay network that it is overloaded and that the switch should throttle back 

D. The sending DTE, to inform the Frame Relay network that it is overloaded and that the switch should throttle back 

E. Any device that uses an extended DLCI address 

Correct Answer: B 

 

QUESTION 5

Which bytes in the Section Overhead identify the beginning of the STS-1 frame? 

A. A1, A2 
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B. B1.B2 

C. H1.H2 

D. K1,K2 

E. J0.J1 

Correct Answer: A 

 

QUESTION 6

In SONET, as a percentage of traffic Overhead is fixed at: 

A. 1.50% 

B. 7.54% 

C. 3.45% 

D. 9.43% 

Correct Answer: C 

 

QUESTION 7

Click the Exhibit button to view the graph. 
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The graph represents optical signal power versus wavelength measurement from 1550nm to 1560nm. The laser type
that provides very narrow spectral widths, (
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